
5 класс

Устный счет



Вычислите устно
1 вариант 2 вариант



Найдите число, которое:

1 вариант

а) в 6 раз 
больше 19

б) в 4 раза 
меньше 72

2 вариант

а) в 7 раз 
больше 24

б) в 6 раз 
меньше 96



Найдите величину, которая:
1 вариант

а) в 3 раза 
длиннее

 1 м 50 см
б) в 2 раза легче
 2 кг 150 г

2 вариант

а) в 5 раз короче 
2 м 15 см
б) в 4 раза 

тяжелее
1 кг 400 г



Ответы
1 вариант
56
120
15
4
6
а) 114
б) 18
а) 4 м 50 см
б) 1 кг 75 г

2 вариант
72
90
18
5
8
а) 168
б) 16
а) 43 см
б) 5 кг 600 г


